CHMY 105 9.4-9.5 Worksheet

C3H8 (g) + 5 O2 (g)  →  3 CO2 (g)  +  4 H2O
1. Determine how many moles of H2O can be produced from 2 moles of O2 and 2 moles of C3H8.  Determine the limiting reactant.  Determine how much of the excess reactant is left over. 
2. Determine how many moles of H2O can be produced from 11 moles of O2 and 2.0 moles of C3H8.  Determine the limiting reactant.  Determine how much of the excess reactant is left over.
3. [bookmark: _GoBack]Determine how many grams of H2O can be produced from 5.0 grams of O2 and 5.0 grams of C3H8.  Determine the limiting reactant.  
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